

FOR TONGEN TONGEN SUPPLIES OF STREET TONGEN STELLE STREET TONGEN STELLE STREET TONGEN STREET TONGEN

À¥ÀI -155 Volume - 155 ಬೆಂಗಳೂರು, ಗುರುವಾರ ,25, ಜೂನ್, 2020(ಅಪಾಧ ,4, ಶಕವರ್ಷ ೧೯೪2) Bengaluru, THURSDAY, 25, JUNE, 2020(Ashadha,4,ShakaVarsha 1942) ÀaPÉ 26 Issue 26

gÁdæÀ«zĒAiRPÒÀÀPIÀIRCª NÀÀPIà É¥JÀPî£Á¸ÀÄWAiRªÀÀUÀIR, gÁdæÀ
C¢ëAiRPINÀIRªIÀIRDzÉæZĒĿĎÀIR, PĒAzÀÀPIRVINGÁdæÀ£Á¸ÀÒÀAÀ ÀPIÉIGÉGÁdå¸ÞÁðgÀIR
°ÉGÀ¹zÀ¸ÁªÄÆÀ±Á¸ÀÀZÞ¤AiRPINÀIRªIÀIRIGÉGÁdæÀUÀÀPIÉIGÉGÁdæ¥Á®GIRªÄTZÀ
¤AiRPINÀIR°ÁUÀR PÀÁðI PÀGZÖPEÁÆAIÄ®AIRPIRªÄTZÀRAIRPINÀIR

GOVERNMENT OF KARNATAKA

No: RD 116 BHUDAA 2019

Karnataka Government Secretariat, Multi Stored Building, Bengaluru, dated 18.10.2019.

NOTIFICATION

In exercise of the powers conferred under section 5(2) of the Waqf Act, 1995, as amended during 2013 (27 of 2013) the Government of Karnataka, Minority Welfare Department has forwarded the proposals received from the Deputy Commissioner, Addl. Commissioner of Survey(waqfs), Chitradurga District to the Board in letter No: fa/1Dgi /a pri allefmi .01/2018-19Dated 28.01.2019. It is verified and approved by the Administrator, Karnataka State Board of Auqaf on 18.02.2019. The Govt. of Karnataka is hereby notifying that the following immovable properties are Waqf properties.

2302

PÌEÁðI PÀ gÁdæViÞ UÄgŪÁgÀ 25, జునా, 2020

"ÁUÀ4J

Name of the District: CHITRADURGA

Name of the Taluka: HOLALKERE

			Location and details of Waqf Property										Administr		
SI No.	Name & Address of the institution	Sunni/ Shia	City/ Town/ Village	Sy.No./ CTS No./ Khahta No.	Extent Acre and Cents/ SQ.FT.	Boundaries	Value (In Rs.) Lakhs	Year of Creation of Waqf (Board's C.R.No& Date)	Name and Address of Waqif	Benefec- iaries if any	Object of Waqf	Gross annual income of Waqf (In Rs.)	ation by custom hereditary or scheme settled by Court or Board	Scheme approved by the Board	Remarks
1	2	3	4	5	6	7	8	9	10	11	12	13	14	15	16
01	Masjid-e-Aqsa, Hosadurga Road, Holalkere Town and Taluk	Sunni	Holalkere	CTS no. 1379/36B	34x50 =1700 Sq.ft.	East: Suleman Khan House West: Drainaige North:Road South:Lake	1.50	No.KBW/REG/ 03/CTA/95-96 Dated:15.7.19 96	Muslim Jamath	Muslim Jamath	Masjid	7250/-	By Custom	Deemed Approved	As per CR 35 X 30= 1050sq ft As per Sketch & enjoyment 1700 sq ft Excess= 650 sq ft
02	Masjid-e- MadeenaShivalingap paBadavane, Holalkere Taluk	Sunni	Holalkere	CTS no. 2056/A67 2056/A68	60x40 =2400 Sq.ft.	East: Road West: Empty Site North:Road South: Empty Site	1.00	No.KTW/REG/ 08/CTA/04-05 Dated:27.7.20 05	Muslim Jamath	Muslim Jamath	Masjid	10000/-	By Custom	Deemed Approved	Khata Effected
03	Razaqiya Masjid, GovindkoppaBadava ne, HolalkereToWn& Taluk	Sunni Holalkere	ni Holalkere	CTS no. 1379/36B	28.20 x 11.20Mtrs =3398.43 Sq.ft.	East: Vacant Site belongings to Basavarajappa West: Kaval Krishnappa's House North: Municipal Road South: Municipal Road	1.50	No.KTW/REG/ 06/CTA/14-15	Muslim Jamath	Muslim Jamath	Masjid	15000/-	By Custom	Deemed	Khata Effected As per CR 29 X 85=2465 sq ft As per Sketch & enjoyment 3398.43 sq ft Excess= 933.43 sq ft
		gain.		CTS no. 1379/36B	24.80x6.0 0 Mtrs =1601.08 Sq.ft.	East: Khalandar's House West: Abdul Nazeer Sab's House North: Muncipal Road South: Muncipal Road	1.25	Dated:7.1.201 6		Janiath	Anjuman			Approved	Khata Effected As per CR 24 X 48=1152 sq ft As per Sketch & enjoyment 1601.08 sq ft Excess= 449.08 sq ft
04	(i) Masjid-e-Nabvi, Gollarahalli Village, Holalkere Taluk	Sunni	Gollarahal li	VPC No 297	83x45 =3735 Sq.ft.	East: Khaleel Sab's House West: Buden Sab House North:Razak Sab house South: Masjid Site	0.75	No.KTW/REG/ 16/CGA/86-87 Dated:28.3.19 88	Muslim Jamath	Muslim Jamath	Masjid & Khabrastan				Khata Effected As per CR 80 X 40=3200 sq ft As per Sketch & enjoyment 3735 sq ft Excess= 535 sq ft

	(ii) Masjid-e-Nabvi, Gollarahalli Village, Holalkere Taluk	Sunni		VPC No 297/1 297/2	83x35 =2905 Sq.ft.	East: Khaleel Sab's House West: Masjid Site North: Masjid South: Road	1.25	Wakf by usage	Muslim Jamath			9000/-	By Custom	Deemed Approved		
	(iii) KhabrasthanGollarah alli Village, Holalkere Taluk		Gollara- halli	SY No 5/4B SY No 5/4C	0-06G 0-11G	East: Road West: Re-Sy No.5/4B North: Re-Sy No.5/3 South: Re-Sy No.4		No.KTW/REG/ 15/CGA/86-87 Dated:11.3.19 88	Donate d by G.K.Na seerun nisa, Rabiya Bi and G.B.Su bhan Sab							
	(i) Jamia Masjid, Madderu Village, TalyaHobli, Holalkere Taluk			VPC No 448/364	78x33 =2574 SQ.FT.	East: hirekerekerappa Vacant Land West: Road North: Conservancy South: Road	1.25	No.KTW/REG/ 13/CTA/02-03 Dated:11.4.20 03								
05	(ii) KhabrasthanMadder u Village, TalyaHobli, Holalkere Taluk	Sunni M	Madderu	Madderu	SY No 72	Y No 72 01A-00G	East: Remaining Land in Sy No.72 West: Remaining Land in Sy No.72 North: Road Re-Sy No.71 South: Re-Sy No.73	1.00	No.KSBW/REG /16/CTA/2011 -12 Dated:18.3.20 13	Muslim Jamath	Muslim Jamath	Masjid & Khabrastan	5000/-	By Custom	Deemed Approved	Khata Effected
06	(i) Jamia Masjid Hiriyur Village, B.DurgaHobli, Holalkere Taluk	Sunni	Hiriyur	VPC NO 266	80x80 =6400 Sq.ft.	East: Muslim Calony West: Vishwanathana Village Way North: Veerabhadra's House South: Panchayath Road	1.00	No.KTW/REG/ 17/CGA/86-87 Dated:15.7.19 87	Muslim Jamath	Muslim Jamath K	Masjid &	5000/-	By Custom	Deemed Approved	Khata Effected	
	(ii) KhabrasthanHiriyur Village, B.DurgaHobli, Holalkere Taluk		,	Sy No 31	02A-00G	East: mallenaHalli Border West: Remaining Land in Sy No.31 North: Sy.No72 Sericulture South: Sy No.32 Lake	1.75	No.KTW/REG/ 02/CTA/2004- 05 Dated:12.8.20 04	Govern ment of Karnat aka		Khabrastan	55507				

	(i)JamiaMasjid, Adhanur Village, B.DurgaHobli, Holalkere Taluk		i Adhanur	VPC No 432	12.00x13. 00 Mtrs =1678.56 Sq.ft.	East:Ramachandrappa 's House West: Road North:Samad Sab's House South: Road	1.00	No.KTW/REG/ 17/CTA/11-12 Dated:30.1.20 13	Muslim Jamath	Muslim Jamath			By Custom	Deemed Approved	Khata Effected As per CR 30 X 40=1200 sq ft As per Sketch & enjoyment 1678.56 sq ft Excess= 478.56 Sq.ft.
07	(li) Arabic Madrasa School Adhanur Village, B.DurgaHobli, Holalkere Taluk	Sunni		VPC No 433	7x6 Mtrs =451.92 Sq.ft.	East:Virupakshappa's House West: Road North: Road South: Hullaurappa's House	0.75				Masjid, Madrasa & Eidgah Maidan	5000/-			Khata Effected As per CR 20 X 23=460 sq ft As per Sketch & enjoyment 451.92 sq ft Less= 8.08 Sq.ft.
	(iii) IdgahMaidanaAdhan ur Village, B.DurgaHobli, Holalkere Taluk			VPC No 434	12.20x9.2 0 Mtrs =1207.70 Sq.ft.	East:Vacant Site West: Nijalingappa's House North: Vacant Site South: Road	1.00								Khata Effected As per CR 40 X 30=1200 sq ft As per Sketch & enjoyment 1207.70 sq ft Excess= 7.70 Sq.ft.
08	Jamia Masjid, Gunderi Village, Holalkere Taluk	Sunni	Gunderi	VPC No 202	80x30 =2400 Sq.ft.	East: Vaccant site West: Panchayath Road North: Conservancy South: Rasheed Saheb House.	1.25	No.KTW/REG/ 21/SWR/78- 79 Dated:21.7.19 82	Muslim Jamath	Muslim Jamath	Masjid	5000/-	By Custom	Deemed Approved	Khata Effected
09	Ashrookhana, Additional Property of Jamia Masjid, Upperigenahalli Village, Holalkere Taluk	Sunni	Upperig- enahalli	VPC No 447	26.20x22. 60 Mtrs =6371.21 Sq.ft.	East:Ismail Sab house West:Sabjan house North: Road South: Sab Jan Sab House	2.25	No.KTW/REG/ 02/CTA/12-13 Dated:06.1.20 14	Muslim Jamath	Muslim Jamath	Ashoorkha na	5000/-	By Custom	Deemed Approved	Khata Effected As per CR 135 X 75 =10125 sq ft As per Sketch & enjoyment 6371.21 sq ft Less= 3573.79 Sq.ft.

PÌĒÁÕ I PÀgÁdã¥ÌVÌÞ UÄgĪÁgÀ 25, జుంనో, 2020

10	(i)Jamia Masjid, Malladihalli Village, Ramgirihobli, Si Holalkere Taluk	Sunni	Malladi- halli	VPC No 456/34	95x55 =5225 Sq.ft.	East: Chickjajur Road West: Road & Hasan Sab house North: Jamia masjid Madarasa South: Nayaz's site	2.50	No.KTW/REG/ 07/CGA/90-91 Dated:26.12.1 990	Muslim Jamath	Muslim Jamath	Masjid, Makan &	15000/-	By Custom	Deemed Approved	
				VPC No 440/35	VPC No 50x30 West: Chick 440/35 =1500 North: Wel	East:Hirehall West: Chickjajur Road North: Well South: PWD Road	1.50				Dargah				
	(ii) HazrathMohiddinSha waliKhadriDargasunn iMalladihalli Village, Holalkere taluk.	Sunni		VPC No 481/36	25x23 =575 Sq.ft.	East:Allawi's Pit West: Master Holeyappana House North: Conservancy South: Road	0.75								Khata Effected As per CR 30x25 =750 sq ft
			ni Malladi- halli	Sy.No 63	00-12G	East:BudiBasavarajapp a land West: hirehalla North: Ramchandrappa land South: holalkere Road	0.50	No.KTW/REG/ 01/CGA/1984 Dated:20.06.1 984			5000/-	5000/-			As per Sketch & enjoyment 13068 S.ft EXcess= 12318 Sq.ft.
11	Jamia Masjid, NeharuColony Holalkere Taluk	Sunni	Neharu Colony	VPC No 82	18x26 Mtrs =5035.68 Sq.ft.	East:Hussainsab's House West: Road North: Road South: Vacant Site	0.75	No.KTW/REG/ 06/CTA/01-02 Dated:16.3.20 02	Govern ment of Karnat aka	Muslim Jamath	Masjid	5250/-	By Custom	Deemed Approved	Khata Effected As per CR 60 X 60 =3600 sq ft As per Sketch & enjoyment 5035.68 sq ft Excess= 1435.68 Sq.ft.
12	Jamia Masjid, Muthagdur Village, B.DurgaHobli, Holalkere Taluk	Sunni	Mutha- gdur	VPC No 469	10.60x7.6 0 Mtrs =866.82 Sq.ft.	East:Road West: Vacant Land of Same Sy No. North: Road South: Vacant Land of Same Sy No.	0.75	No.KSBA/REG/ 28/CTA/2017- 18 Dated:2.7.201	Govern ment of Karnat aka	Muslim Jamath	Masjid	6000/-	By Custom	Deemed Approved	Khata Effected As per CR 35 X 25 =875 sq ft As per Sketch & enjoyment 866.82 sq ft Less= 8.18 Sq.ft.

R.N.I. No. KARBIL/2001/47147 POSTAL REGN. No. RNP/KA/BGS/2202/2017-19 Licensed to post without prepayment **WPP No. 297**

2306 PÈÁÐI PÀ gÁdæÝ VÀg LÄgĪ ÁgÀ 25, జున్, 2020

"ÁUÀ4J

13	Jamia Masjid, Horakedevapura Village, TalyaHobli, Holalkere Taluk	Sunni	Horakede- vapura	VPC No 124	12x18 Mtrs =2324.16 Sq.ft.	East:Vacant Land and Water Tank West: Road North: Gowrammas Land South: Road	0.50	No.KTW/REG/ 01/CTA/08-09 Dated:16.10.2 008	Muslim Jamath	Muslim Jamath	Masjid	8000/-	By Custom	Deemed Approved	Khata Effected As per CR 60 X 40 =2400 sq ft As per Sketch & enjoyment 2324.16 sq ft Less= 75.84 Sq.ft.
----	--	-------	---------------------	---------------	-------------------------------------	---	------	---	------------------	------------------	--------	--------	--------------	--------------------	---

Total No. of Institutions : 13
Total No. properties : 25
Total extent in A-G : 03A-29G
Total extent in Sq. ft. :52,349.56 Sq.ft.

By Order and in the Name of the Governor of Karnataka

(C.PUTTANANJAIAH), Under Secretary to Government, Revenue Department (SSLR)

PR-264